Gefahr Entsorgung - Hohlwelle / Befestigung mit Klemmring gehauseseitig
_— A Warnung bei moglichen Gefahren. Bestandteile nach landerspezifischen Vorschriften entsorgen. Vor Montage des Drehgebers, Klemmring vollstandig
? E Ba u m er 6ffnen. Drehgeber auf die Antriebswelle vollstandig auf-
) Hinweis QO  Transport und Lagerung ] stecken und den Klemmring fest anziehen (1,2 Nm).
ﬂ Info fUr bestimmungsgerechte Produkthandhabung. - Ausschliesslich in Originalverpackung. Antriebs-
H - Drehgeber nicht fallen lassen oder gréosseren Erschiitte- welle
DE Montageanleitung I]g Allgemeiner Hinweis rungen aussetzen. Klemnmring
GB Assembly Instructions Zusatzliche Informationen Montage Mechanischer Anbau
Die Montageanleitung ist eine Ergédnzung zu weiteren - Schlage oder Schocks auf Gehause und Welle vermeiden. 9.5) Drehmomentstift des Drehgebers
GI330. GI331 Dokumentationen (z.B. Katalog, Datenblatt, Handbuch). % - Gehause mcht verspannen. - Ec% 15 Dre_hgeber Uber die Antriebsv_vel_le
! - Drehgeber nicht 6ffnen oder mechanisch verandern. 3 ' schieben und Drehmomentstift in das
GI332, GI333 A Anleitung unbedingt vor Inbetriebnahme lesen. - Die Federarme der Kupplungsfeder mussen frei beweg- o L kundenseitige Justierelement einfliihren.
G0333, GE333 lich sein. " e ementsit

Inkrementale Drehgeber
Incremental Encoder

Belegung/Assignment CO, C1
2-8
9-16

Baumer IVO GmbH & Co. KG
Dauchinger Strasse 58-62
DE-78056 Villingen-Schwenningen
Phone +49 (0)7720 942-0

Fax +49 (0)7720 942-900
info.de@baumerivo.com

www.baumer.com

Bestimmungsgemasser Gebrauch

Der Drehgeber ist ein Prézisionsmessgerat. Er dient zur
Erfassung von Winkelpositionen und Umdrehungen,
Aufbereitung und Bereitstellung von Messwerten als
elektrische Ausgangssignale fir das Folgegerat. Drehge-
ber nur zu diesem Zweck verwenden.

Inbetriebnahme

- Einbau und Montage des Drehgebers darf ausschliess-
lich durch eine Fachkraft erfolgen.

- Betriebsanleitung des Maschinenherstellers beachten.

Sicherheitshinweise

- Vor Inbetriebnahme der Anlage alle elektrischen Verbin-
dungen Uberprifen.

- Wenn Montage, elektrischer Anschluss oder sonstige

Arbeiten am Drehgeber und an der Anlage nicht fachge-

recht ausgeflihrt werden, kann es zu Fehlfunktion oder

Ausfall des Drehgebers flihren.

Eine Gefahrdung von Personen, eine Beschadigung

der Anlage und eine Beschadigung von Betriebseinrich-

tungen durch den Ausfall oder Fehlfunktion des Dreh-

gebers muss durch geeignete Sicherheitsmassnahmen

ausgeschlossen werden.

- Drehgeber nicht ausserhalb der Grenzwerte betreiben,

Verschlusskappe

-
Antriebs-
welle

103
N Antriebs-
welle

- Rundlauftoleranz: Max. 0,1 mm gemessen am aus-
sersten Punkt der Antriebswelle (Motorwelle).

Welle, Kugellager, Glasscheibe oder elektronische
Teile kdnnen beschéadigt werden. Die sichere
Funktion ist dann nicht mehr gewahrleistet.

Befestigung

Endwelle / Zentralbefestigung

Gehauseseitige Verschlusskappe I6sen und von hinten
mit beiliegender M4 Schraube (1,9 Nm) an der Antriebs-
welle befestigen. Eintauchtiefe 22 mm.

- Endwelle / Befestigung mit Klemmring flanschseitig
Vor Montage des Drehgebers, Klemmring vollstandig
offnen. Drehgeber auf die Antriebswelle vollsténdig
aufstecken und den Klemmring mit M2,5 Schraube an-
ziehen (0,8 Nm). Eintauchtiefe 25 mm.

Hohlwelle / Befestigung mit Gewindestift
Drehgeber auf die Antriebswelle vollstdndig aufstecken
und den Gewindestift M3 anziehen (0,8 Nm).

Kupplungsfeder

Kupplungsfeder mit den Schrauben
M3x6 (1,2 Nm) an den Befestigungslo-
chern des Drehgeberflansches montie-
ren. Drehgeber Uber die Antriebswelle
schieben und Kupplungsfeder an der
Anlageflédche befestigen.

Gummifeder _
~ element

4 Justierteil / Drehmomentstift 9.5 mm
Drehgeber tber die Antriebswelle schie-
ben. Drehmomentstift in das kundensei-
tig montierte Justierteil einfihren.

2.5
22

Justierteil mit Gummifederelement
Drehgeber tber die Antriebswelle
schieben. Drehmomentstift in das
kundenseitig montierte Justierteil (mit
Gummifederelement) einflhren.

1.25

Printed in Germany - 01.11 - 178.51.216/1
Irrtum sowie Anderungen in Technik

und Design vorbehalten.

Subject to modification in technic and design.

welche im Datenblatt angegeben sind.
-9

Y Antriebs-

welle

Bei Nichtbeachtung der Sicherheitshinweise kann es zu
Fehlfunktionen, Sach- und Personenschaden kommen.

50
38
1

Drehmomentstift

16|

3.5

‘16‘

Errors and omissions excepted.

P 2 4 \Justierteil
O Alle beweglichen Justierelemente mussen in axialer und Ausgangstreiber: Bei ausgeschalteter Betriebsspannung, Montageanleitung des Steckerlieferanten beachten. Steckeranschluss CO/C1  Anschlussbelegung
ﬂ radialer Richtung Spiel haben, um Verschiebungen durch A Ausgange (Spur) nicht mit Spannung beaufschlagen (Zer- - Steckverbinder auf Gehause-Stecker M23 andrticken. Stecker Belegung

Temperatur und mechanisches Spiel auszugleichen. Befe- stérungsgefahr). Anschlussleitungen der Ausgénge am - Steckverbinder vorsichtig drehen bis der Codiersteg in Pin 1 UB

stigungsschrauben und Schrauben des Klemmrings fest Kabelende mit einem Abschlusswiderstand beschalten, die Codiernut der Steckerbuchse einrastet. Pin 2 GND

anziehen. Die Kupplungsfeder darf ausser an den Befe- sonst besteht eine Uberlastung der Ausgangstreiber - Buchseneinsatz vollstandig einflihren und Pin 3 Spur A

stigungspunkten des Drehgebers und Motors nicht an- durch Leitungsreflektionen. Uberwurfmutter bis zum Anschlag anziehen. Pin 4 Spur B

stehen. - -

Anschluss - Stecker M23 DrehgeberGehéuse und Schirmgeflecht des Ka- E:: (53 ggtj: g‘ i(rl:lvull|mpu|s)

Elektrische Inbetriebnahme Ist der Geratestecker nicht angeschlossen, muss er im- bels sind optimal verbunden, wenn das Schirmge- Pin 7 Spur A inv'

- Drehgeber elektrisch nicht verandern und keine Verdrah- mer mit der werkseitigen Kunststoffkappe abgedichtet flecht grossflachig im Steckverbinder aufliegt und Drehrichtung im Uhrzei- Pin 8 UB-S -
tungsarbeiten unter Spannung vornehmen. sein. Geeigneter Steckverbinder (Gegenstlick) als Einzel- die Uberwurfmutter fest angezogen ist. gersinn (cw) in ense - -

- Der elektrische Anschluss darf unter Spannung nicht teil oder mit unterschiedlichen Kabellangen, siehe Zube- Pin 9 Spur N inv. (Nullimpuls inv.)
aufgesteckt oder abgenommen werden. hor. Bei kundenspezifischer Kabelkonfektionierung aus- UB-Sense und GND-Sense sind mit UB bzw. GND direkt P!” 10 GND-Sense

- Bei Verbrauchern mit hohen Stérpegeln separate Span- schliesslich geschirmte Leitungen und Steckverbinder in verbunden. Fur Verlangerungskabel ab 10 m paarweise Pin 11 -
nungsversorgung fur den Drehgeber bereitstellen. EMV-Ausflhrung verwenden. verdrillte Leitungen verwenden. Pin 12 -

- Die gesamte Anlage EMV gerecht installieren.

Einbauumgebung und Verkabelung beinflussen die EMV

des Drehgebers. Drehgeber und Zuleitungen réumlich Abmessungen GI331 Hohlwelle und Stift Steckerabmessungen
getrennt oder in grossem Abstand zu Leitungen mit GI330 Endwelle und Zentralbefestigung

Cgﬁsggﬁtorpegel (Frequenzumrichter, Schiitze usw.) 15 (9.5) 58 58 15 (9.5) 15 (9.5) 58 1 46 5 58 15 (9.5)

- Drehgebergehaduse und die Anschlusskabel vollstandig- ‘ ‘ ] E‘S’ I I f_,,
schirmen. Drehgeber an Schutzerde (PE) anschliessen. ‘\ \\ “g 3 \ w\\ 3
Geschirmte Kabel verwenden. Schirmgeflecht muss mit ft% ,,%i o g \7 [ @ -8 I g g 'V
der Kabelverschraubung oder Stecker verbunden sein. 3 ‘ 3 s / ® /

Anzustreben ist ein beidseitiger Anschluss an Schutzer L - | 4 -
de (PE). Gehause Uber den mechanischen Anbau erden, ! M3 x 6 P 35 e M3x 6
bei elektrisch isoliertem Anbau zusétzliche Verbindung 21 i - Eg g
herstellen. Kabelschirm Uber die nachfolgenden an- 16.6
geschlossenen Gerate erden. Bei Problemen mit Erd- -
schleifen mindestens eine einseitige Erdung.

[@ Bei Nichtbeachtung kann es zu Fehlfunktionen, Sach- und GI332 Endwelle und Klemmring flanschseitig GI333, GE333, G0333 Hohlwelle und Klemmring gehduseseitig

Personenschaden kommen. 41 6 9.5) 515 9.5)

27 15 58 58 _15(9.5) 15 58 1 46 5 58 15(9.5)

Elektrischer Anschluss ©

Nicht benutzte Ausgénge durfen nicht beschaltet sein. \ ‘\ ;"’ | [ f

Bei Ausflihrung mit Kabel nicht benutzte Adern isolieren. © < o & \ S © \\ 3

Max. zulassiger Kabel-Biegeradius 90 mm. - S U % 18 N ol ¥ ] T S - r 3 —_ 2 9 i

N | / e S ° Y,
I - T
— e M3 x 6 5
Q 8 3
6




48 Baumer

Assembly Instructions

GI330, GI331
GI332, GI333
G0333, GE333
Assignment CO, C1

Incremental Encoder 9-16

B>

8 =0 >

Danger
Warnings of possible danger.

General instructions
Information on appropriate product handling.

General remarks

Additional information
The assembly instruction is supplementary to further
existing documentation (e.g. catalog, data sheet, manual).

It is imperative to read the manual carefully prior to star
ting the device.

Appropriate use

- The encoder is a precision measuring device. It is ex
plicitly designed for registration of angular positions
and revolutions as well as evaluation and supply of
measuring values as electric output signals for the sub-
sequently connected device. The encoder must not be
used for any other purpose.

Start up

- Installation and assembly of the encoder only by electri-
cally skilled and qualified personnel.

- Consider also the operation manual of the machine
manufacturer.

Safety instructions

- All electrical connections are to be revised prior to star
ting the system.

- Incorrect assembly and electrical connections or any

other inappropriate work at encoder and system may

lead to malfunction or failure of the encoder.

Any risk of personal injury, damage of the system or

company equipment due to failure or malfunction of the

encoder has to be eliminated by corresponding safety

measures.

Do not operate encoder beyond the limit values stated

in the data sheet.

sealing cap

[—Io

Disposal
Encoder components are to be disposed of according to
the regulations prevailing in the respective country.

Transport and storing
- In original packing only.
- Do not drop or expose encoder to major shocks.

Assembly

- Avoid punches or shocks on case and shaft.

- Avoid case distortion.

- Do not open or modify encoder in any mechanical way.

- The spring arm of the spring coupling has to be free
movable.

- Radial runout tolerance: 0.1 mm max., measured at the
very end of the drive shaft (motor shaft).

ﬂg Shaft, bearing, glass disc or electronic
components might be damaged and a secure
operation is no longer guaranteed.

Mounting

- End shaft / center mounting
Remove sealing cap provided on housing, push in the
drive shaft and fasten from rear with included M4 screw
(1.9 Nm). Depth of immersion 22 mm.

- End shaft / mounting with clamping ring (flange)
Open clamping ring completely before mounting the
encoder. Push encoder completely onto drive shaft and
tighten clamping ring with M2,5 screw firmly (0,8 Nm).
Depth of immersion 256 mm.

- Hollow shaft / mounting with grub screw
Push encoder completely onto drive shaft and tighten
grub screw M3 firmly (0,8 Nm).

clamping ring

(9.5)
15

- Hollow shaft / mounting with clamping ring (housing)
Open clamping ring completely before mounting the
encoder. Push encoder completely onto drive shaft and
tighten clamping ring firmly (1.2 Nm).

Mechanical mounting

Encoder torque pin

Slide encoder onto the drive shaft and
insert torque pin into the adjusting
element provided by customer.

torque pin

Spring coupling

Fasten spring coupling at the fixing holes
provided on encoder flange by means
M3x6 (1.2 Nm) of screws. Push encoder
onto the drive shaft and fasten spring
coupling at the surface provided with
SCrews.

50
38
1

I —

5 .
rubber spring

= element
|~

Adjustment piece / torque pin 9.5 mm
Push encoder onto the drive shaft. Insert
pin into the mounted adjusting part
provided by customer.

| 25
2

Adjustment piece with rubber spring
element

Push encoder onto the drive shaft. Insert
torque pin into the mounted adjusting
part (with rubber spring element) provi-
ded by customer.

1.256

. . ) torque pin
@ Any disregard may lead to malfunctions, material damage que pi
and personal injury. . .
9 10 12 adjustment piece
O Al movable adjusting elements need tolerance in both Output drivers: With the operating voltage switched off, - Press mating connector softly onto the M23-plug. Connection C0/C1 Terminal assignment
axial and radial direction in order to equalize shifts by tem- do not apply voltage to the outputs (track) (danger of per - Turn mating connector until the code-mark is interlo- Connector Assignment
perature and of mechanical nature. Tighten both fixing and manent damage). The ends of output connecting cables cking the corresponding space provided by M23-plug. Pin 1 UB
clamp ring screws firmly. The spring coupling is not should be terminated with a terminating resistor, other - Insert bushing completely. Pin 2 GND
allowed to have any contact to the encoder or motor wise the output drivers will be overloaded as a result of - Tighten the nut as far as possible. Pin 3 Track A
except on the mounting point. output reflections. Pin 4 Track B
o . . [@ An optimize_d conn_ection between en_coder case Pin5 Track N (zero pulse)
Electrical installation Assignment - connector M23 and the braided shield of the connection cable is ; :
. . . . ) . . ; ; Pin 6 Track B inv.
- Do not modify encoder in any electrical way and carry Whilst not connected, the connector is always to be only achieved by the braided shield being placed Pin 7 Track A inv
out any wiring work under power supply. sealed by the plastic cover provided by the manufacturer generously onto the connector and the nut being With clockwise Pin g UBS -
- Any electrical connection and plugging-on whilst under upon delivery. Appropriate mating connectors available as secured firmly. rotation (cw) in ense -
power supply is not permitted. spare part or with different cable length, please refer to Pin 9 1G'rackSN inv. (zero pulse inv.)
- A separate encoder supply has to be provided with con- accessories. In case of customer-specific length use on- UB-Sense and GND-Sense are directly connected to UB P!” 10 ND Sense
sumers with high interference emission. ly screened cable and connectors corres-ponding to EMC resp. GND. Please use cores twisted in pairs for extensi- P!“ 1 -
- Installation of the whole system has to be according to standasrds. Consider the wiring instructions of the re- on cables of more than 10 m length. Pin 12 -
EMC standards. Installation environment as well as wi- spective supplier.
ring have an impact on the encoder’'s EMC. Encoder and
supplying lines are to be in separated locations or remo- | Dimensions GI331 hollow shaft and pin Connector dimensions
te from lines with high interference emission (frequency | GI330 end shaft and center mounting
transformers, protections, etc.). 15 (9.5)
-9) 958 1 46 5 58 15 (9.5
- Encoder case and supply cable have to be completely 159.5) 58 58 159-5) )
screened. ‘ ‘ o <l \ \ ey
- Ground (PE) encoder by using screened cables. The brai- \ x {_f 3 ! \ 3
ded shield has to be connected to cable gland or plug. fz% [ % 2 Q ' [ @ -8 I o g !
Grounding (PE) on both sides is recommended.Ground 3 ‘ 3 S Y @ /
the case by the mechanical assembly, if latter is electri- b - | . 1 - M3 x 6
cally isolated a second connection has to be provided. ! M3 x 6 P 35 X
Ground cable screen by the subsequently connected = - - Eg g
devices. In case of ground loop problems at least groun- 16.6
ding on one side is imperative. =
= Any disregard may lead to malfunctions, material damage | GI332 end shaft and clamping ring on flange G333, GE333, G0333 hollow shaft and clamping ring on housing
and personal injury.
41 __6 (9.5) 505 51.5 9.5)
. . 27 15 58 58 . 15 58
Electrical connection ) 1 46 5 58 15 (9.9)
Any outputs not used must not be connected. Unused ca- \ | f& [ ‘ Q|
ble cores have to be isolated. © ' \\ 3 \ ‘?g
Max. allowed bending radius of cable: 90 mm - g‘ L % -—2 § Q % 1 R f:% i ~ @o ) B 2 q \ A
—~ ® ! 3 © N ’
NE 7/ = /
S| | M3 x 6 i —— =~ M3x6
SRS © g 5 ol 3.5 E
' 16.6
13 14 15 16




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (eciRGB v2)
  /CalCMYKProfile (ISO Coated v2 \050ECI\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /UniversLTStd
    /UniversLTStd-Black
    /UniversLTStd-BlackObl
    /UniversLTStd-Bold
    /UniversLTStd-BoldObl
    /UniversLTStd-Light
    /UniversLTStd-LightObl
    /UniversLTStd-Obl
    /Webdings
    /ZapfDingbats
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages true
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth 8
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (ISO Coated v2 \050ECI\051)
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CheckCompliance [
    /None
  ]
  /ColorImageMinDownsampleDepth 1
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /CropColorImages false
  /CropGrayImages false
  /CropMonoImages false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e5c4f5e55663e793a3001901a8fc775355b5090ae4ef653d190014ee553ca901a8fc756e072797f5153d15e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc87a25e55986f793a3001901a904e96fb5b5090f54ef650b390014ee553ca57287db2969b7db28def4e0a767c5e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents best suited for on-screen display, e-mail, and the Internet.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020d654ba740020d45cc2dc002c0020c804c7900020ba54c77c002c0020c778d130b137c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor weergave op een beeldscherm, e-mail en internet. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
  >>
  /DetectCurves 0.100000
  /EmbedOpenType false
  /GrayImageMinDownsampleDepth 2
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides true
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (ISO Coated v2 \(ECI\))
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /ClipComplexRegions false
        /ConvertStrokesToOutlines true
        /ConvertTextToOutlines false
        /GradientResolution 300
        /LineArtTextResolution 1270
        /PresetName (Reduzierungsvorgabe IVO Offset)
        /PresetSelector /UseName
        /RasterVectorBalance 1
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
  /PDFXOutputConditionIdentifier ()
  /ParseICCProfilesInComments true
  /PreserveDICMYKValues true
  /PreserveFlatness false
>> setdistillerparams
<<
  /HWResolution [300 300]
  /PageSize [609.449 841.890]
>> setpagedevice


